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RIS-021P0

Equipment Infomation

10.61 mA3/s

H: 0,40 mm/s
V:0.31 mmss

H: 0,38 mmys
V031 mm/s
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RIS-021PO

10,61 mA3/s

H:0.38 mmss
V031 mmss

Equipment Infomation
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Time Wave Form
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Are_there_hamonics_of_1X?_n<=05

entropy = 2.795
samples =18
vae=(1,24142173]
class = Coil defect
Troe Faise
Is_2)_component_prominent?_n <=0.5 Is_2X_component_prominent?_n <=0.5
entropy = 1.918 entropy =2.189
samples =6 samples = 12
vave =[0,2,0,1,2,0,1,0] vave=[1,0,402203
class = Broken rotor bar class = Coll defect
Is_there_a_rofro_bar_passing_frequency(RBPF)?_n<=05" (ls_there_a rotro_bar_passing_frequency(RBPF)?_n<=05) (Does_the_f have_a bng ampin.de? n<-0 Is_there_a_rotro_bar erg_lwemmﬂpﬂ? ye=05
entropy = 1.585 entropy = 0918 e
samples =3 samples=3
vale =(0,1,0,1,0,0,1,0) vave=(0,1,0,0,2,0,0,0) value = [1 0, 2 U 1 2,0,0 value = [0.0 2 ﬂ 1 0,03
¢lass = Broken rotor bar class =Looseness tlass = Coil defect um

Are_there ¢ slblmmu ol 1X7_ne¢=05

value = io,1,a.u,o,u,1,o1
class = Broken rotor bar

Is_1X_component_prominent?_n <= 0.5
entopy=15

samples =4
vae =0,0,2,0,1,0,0,1)
class = Coil defect

Does_the_21_have_a_big_ampltude? n<=05
entopy= 10

Is_there_a_two_times_of_line_frequency?_y<=05
entropy=1.0

samples =2 samples =2
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class = Coil defect class = Coil defect
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Compare equipment (M1H )

Equipment Name

Plant

Alert

Fault

Status

R.S Resuit

M.L Result

Parameter

Point Chart
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